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January 28, 2015
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Show all work to receive full credit. Supply explanations when necessary.

1. (4 points) Let f(r) = 22, a = 3.253, and h = 0.0020.
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(a) Use four-digit arithmetic with rounding to compute
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(b) The exact value of the expression is 6.508. Find the relative error in your com-
puted value.
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(c) Explain why your computed result in part (a) is inaccurate.
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(d) Find a way to obtain an accurate result while still using four-dlglt arithmetic.
What is the relative error in your new result?
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2. (1 point) Find the three compile-time errors in the program below.
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#include <iostream> \J\Q o q
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int main() ‘ ‘ - \
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cout << "Here is the letter x: " <<®<< ’\n’; . c—rA"EJ”(")_r AT
cout << "Here is the number 2: " << 2 << ’\n’ J Tez MmN
cout << Here is the numbar 0.5: << 0.5 << ’\n’; Re CiU\QED
return( 0 ) ;- (5\9
}
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3. (1 point extra credit) Use a TI-83/84 (or other scientific calculator) to convince yourself
that = = 85/23 satisfies the equation 23z +-e78 = 85. Recalling that the exponential
function always has positive values, explain how it can be that the equations

23z + 78 =85
and
23z = 85
can have the same solution.
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